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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð 
>na Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

  H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No. 

 

 

 

 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 15 h¢ & 

(I) Please check that this question 

paper contains 15 printed pages. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>34 àíZ h¢ & 

(III) Please check that this question 

paper contains 34 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| & 

(IV) Please write down the Serial 

Number of the question in the 

answer-book before attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m 
g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &   
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

 at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the  

answer-book during this period. 

AZwà`wŠV$J{UV 
APPLIED MATHEMATICS 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 70 

Time allowed : 3 hours Maximum Marks : 70  
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gm_mÝ` {ZX}e : 

{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m g™Vr go nmbZ H$s{OE :  

(i) `h àíZ-nÌ Mma IÊS>m| _| {d^m{OV {H$`m J`m h¡  H$, I, J Ed§ K & Bg àíZ-nÌ _|  
34 àíZ h¢ & g^r àíZ A{Zdm`© h¢ &   

(ii) IÊS> H$ _| 20 àíZ h¢, àË`oH$ H$m 1 A§H$ h¡ &  
(iii) IÊS> I _| 5 àíZ h¢, àË`oH$ Ho$ 2 A§H$ h¢ &  
(iv) IÊS> J _| 5 àíZ h¢, àË`oH$ Ho$ 4 A§H$ h¢ &  
(v) IÊS> K _| 4 àíZ h¢, àË`oH$ Ho$ 5 A§H$ h¢ & 
(vi) àíZ-nÌ _| H$moB© ^r ì`mnH$ {dH$ën Zht h¡ & VWm{n Am§V[aH$ {dH$ën àXmZ {H$E JE h¢,  

1 A§H$ Ho$ VrZ àíZm| _§o, 2 A§H$m| Ho$ Xmo àíZm| _§o, 4 A§H$m| Ho$ Xmo àíZm| _§o Am¡a 5 A§H$m| Ho$ Xmo 
àíZm| _§o & AmnH$mo Bg Vah Ho$ àíZm| _| {g\©$ EH$ {dH$ën H$m hr CÎma XoZm h¡ & 

(vii) BgHo$ A{V[aº$, Amdí`H$VmZwgma, àË`oH$ IÊS> Am¡a àíZ Ho$ gmW `Wmo{MV {ZX}e {XE JE h¢ & 
(viii) H¡$ëHw$boQ>a Ho$ à`moJ H$s AZw_{V Zht h¡ & 

IÊS> H$ 

ZmoQ> : àíZ g§»`m 1 go 10 ~hþ{dH$ënr` àH$ma Ho$ àíZ h¢ & ghr {dH$ën H$m M`Z H$s{OE & 

1. 
x

e–e
lim

x–x

0x
 ~am~a h¡ 1 

(A) 2 

(B) 1 

(C) – 1 

(D) – 2 

2.   2xx  dx   ~am~a h¡ 1 

(A) c)2x(
3

2
–)2x(

5

2 2/32/5   

(B) c)2x(
2

3
)2x(

2

5 2/32/5   

(C) c)2x(
3

4
–)2x(

5

2 2/32/5   

(D) c)2x(
3

4
)2x(

5

2 2/32/5   
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises four sections  A, B, C and D. There are  
34 questions in the question paper. All questions are compulsory.  

(ii) Section A comprises of 20 questions of 1 mark each. 

(iii) Section B comprises of 5 questions of 2 marks each. 

(iv) Section C comprises of 5 questions of 4 marks each. 

(v) Section D comprises of 4 questions of 5 marks each. 

(vi) There is no overall choice in the question paper. However, an internal choice 
has been provided in 3 questions of one mark, 2 questions of two marks,  
2 questions of four marks and 2 questions of five marks. Only one of the choices 
in such questions have to be attempted. 

(vii) In addition to this, separate instructions are given with each section and 
question, wherever necessary.  

(viii) Use of calculator is not permitted. 

SECTION A 

Note :  Question numbers 1 to 10 are multiple choice type questions. Select the 

correct option. 

1. 
x

e–e
lim

x–x

0x
 is equal to 1 

(A) 2 

(B) 1 

(C) – 1 

(D) – 2 

2.   2xx  dx   is equal to 1 

(A) c)2x(
3

2
–)2x(

5

2 2/32/5   

(B) c)2x(
2

3
)2x(

2

5 2/32/5   

(C) c)2x(
3

4
–)2x(

5

2 2/32/5   

(D) c)2x(
3

4
)2x(

5

2 2/32/5   
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3. `{X 















0i

i–0
A  (i2 = – 1)   VWm  
















1–0

01
B   hmo, Vmo AB  ~am~a h¡ 1 

(A) 








0i

i0
 

(B) 








i–0

0i
 

(C) 








10

i–i
 

(D) 








0i

00
 

4. `{X A EH$ 5  p Amì`yh h¡, B EH$ 2  q Amì`yh h¡, Vmo Amì`yh AB H$s H$mo{Q> 5  4 h¡ &  
p Am¡a q Ho$ _mZ Š`m h¢ ? 1 

(A) p = 2, q = 4 

(B) p = 4, q = 2 

(C) p = 2, q = 2 
(D) p = 4, q = 4 

5. `{X {H$gr Hy$Q> ^mfm _| ‘STUDENT’ H$mo ‘UVWFGPV’ {bIm OmVm h¡, Vmo 
‘TEACHER’ H$mo Cgr Hy$Q> ^mfm _| {bIm OmEJm 1 

(A) VGCEJGT 

(B) VGCEIGT 

(C) VGDEJGT 

(D) VGCDJGT 

6. p  q H$s gË`_mZ gmaUr _| T’s (TRUTHS) H$s g§»`m h¡ 1 

(A) 4 
(B) 3 

(C) 2 

(D) 1 

7. EH$ AZ{^ZV nmgm CN>mbm J`m & EH$ {df_ g§»`m `m 3 H$m JwUO àmá hmoZo H$s àm{`H$Vm 
Š`m h¡ ? 1 

(A) 
4

3
 

(B) 
2

1
 

(C) 
3

2
 

(D) 
3

1
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3. If  















0i

i–0
A  (i2 = – 1)   and  
















1–0

01
B ,   then AB is equal to   1 

(A) 








0i

i0
 

(B) 








i–0

0i
 

(C) 








10

i–i
 

(D) 








0i

00
 

4. If A is a 5  p matrix, B is a 2  q matrix, then the order of the matrix AB 

is 5  4. What are the values of p and q ? 1 

(A) p = 2, q = 4 
(B) p = 4, q = 2 

(C) p = 2, q = 2 

(D) p = 4, q = 4 

5. If ‘STUDENT’ is coded as ‘UVWFGPV’ in a certain language, then 

‘TEACHER’ will be coded in that language as 1 

(A) VGCEJGT 

(B) VGCEIGT 

(C) VGDEJGT 

(D) VGCDJGT 

6. The number of T’s (TRUTHS) in the truth table of  p  q  is 1 

(A) 4 

(B) 3 

(C) 2 

(D) 1 

7. An unbiased die is thrown. What is the probability of getting an odd 

number or a multiple of 3 ? 1 

(A) 
4

3
 

(B) 
2

1
 

(C) 
3

2
 

(D) 
3

1
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8. 52 nÎmm| H$s AÀN>r Vah go \|$Q>r JB© EH$ gmYmaU JÈ>r _| go EH$ nÎmm {ZH$mbm J`m Am¡a 
EH$ OwAmar BgHo$ nmZ H$m nÎmm `m ~mXemh hmoZo na Xm±d bJmVm h¡ & Bg Xm±d Ho$ K{Q>V Z 
hmoZo H$s g§^mì`Vm Š`m h¡ ? 1 
(A) 4 : 9 

(B) 1 : 4 

(C) 4 : 1 
(D) 9 : 4 

9. `{X A(– 2, 1), B(2, 3) VWm C(– 2, – 4) VrZ {~ÝXþ h¢ Am¡a aoImAm| BC VWm BA Ho$ ~rM 
H$m H$moU  h¡, Vmo tan  ~am~a h¡ 1 

(A) 
2

1
 

(B) 
3

1
 

(C) 
3

2
 

(D) 
4

3
 

10. `{X EH$ aoIm Ho$ Xmo {ZX}em§H$-Ajm| Ho$ ~rM ~Zo A§V…I§S> H$m _Ü`-{~ÝXþ M(2, 3) h¡, Vmo 
aoIm H$m g_rH$aU h¡ 1 
(A) 2x + 3y = 13 

(B) x + y = 5 

(C) 2x + y = 7 
(D) 3x + 2y = 12 

ZmoQ> : àíZ g§»`m 11 go 15 VH$ Ho$ àíZm| _| Imbr ñWmZm| H$mo ^[aE & 
11. `{X p = _mo{hV EH$ AÜ`mnH$ h¡, q = amo{hV EH$ B©_mZXma b‹S>H$m h¡, Vmo p  ~ q H$m 

empãXH$ H$WZ h¡ ___________ & 1 

 AWdm 

 a{d, {XZoe go ~‹S>m naÝVw _mZd go N>moQ>m h¡ & {XZoe Am¡a nmag h_-C_« h¢ naÝVw _wHo$e go ~‹S>o 
h¢ & V~ nmag, _wHo$e go ___________ h¡ & 1 

12. EH$ dñVw H$m dV©_mZ df© _| _yë` Am¡a Cg dñVw H$m AmYma df© _| _yë` H$m à{VeV Ho$ ê$n 
_| A{^ì`º$ AZwnmV H$hbmVm h¡ ___________ & 1 

13. `{X  















01

10
A  h¡,  Vmo A4 = ___________ . 1 

AWdm 

 {XE JE 


















012–

12–3

11–1

A  VWm 















2–1

42

21

B  Ho$ {bE Amì`yhm| AB H$s H$mo{Q> h¡ 

_________ & 1 
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8. A card is drawn from an ordinary pack of 52 cards and a gambler bets that it 

is a heart or a king card. What are the odds against his winning this bet ? 1 

(A) 4 : 9 
(B) 1 : 4 

(C) 4 : 1 

(D) 9 : 4 

9. If  A(– 2, 1),  B(2, 3)  and  C(– 2, – 4)  are three points and  is the angle 

between the lines BC and BA, then  tan   is equal to 1 

(A) 
2

1
 

(B) 
3

1
 

(C) 
3

2
 

(D) 
4

3
 

10. If segment of the line intercepted between the coordinate-axes is bisected 

at the point M(2, 3), then the equation of this line is 1 
(A) 2x + 3y = 13 

(B) x + y = 5 

(C) 2x + y = 7 
(D) 3x + 2y = 12 

Note :  Fill in the blanks in question numbers 11 to 15.  

11. If p = Mohit is a teacher, q = Rohit is an honest boy, then verbal 

statement for  p  ~ q  is ___________ .  1 

OR 

 Ravi is older than Dinesh but younger than Manav. Dinesh is as old as 

Paras but older than Mukesh. Then Paras is ____________ than Mukesh.  1 

12. The ratio, expressed as a percentage, of the price of an item in the current 

year to the price of the item in the base year is called ____________ . 1 

13. If  















01

10
A ,  then A4 = ___________ . 1 

     OR 

 Given A = 

















012–

12–3

11–1

 and B = 

















2–1

42

21

, the order of the matrix AB is 

__________ . 1 
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14. x-Aj Ho$ g_mÝVa d {~ÝXþ (2, – 4) go JwµOaZo dmbr aoIm H$m g_rH$aU h¡ __________ & 1 

15. {H$gr {~ÝXþ na EH$ AdH$bZr` \$bZ, Cg {~ÝXþ na ___________ ^r hmoVm h¡ & 1 

ZmoQ> : àíZ g§»`m 16 go 20 VH$ Ho$ àíZm| Ho$ CÎma Xr{OE & 

16. 1 go 25 VH$ A§{H$V 25 bm°Q>ar H$s {Q>H$Q>m| _§o go, Xmo {Q>H$Q> `mÑÀN>`m EH$-gmW {ZH$mbr 
OmVr h¢ & {H$gr ^r {Q>H$Q> na A^mÁ` g§»`m Z hmoZo H$s àm{`H$Vm kmV H$s{OE & 1 

17. EH$ a¡{IH$ àmoJ«m_Z g_ñ`m Ho$ ~ZmZo _| Omo VrZ _w»` KQ>H$ hmoVo h¢, CÝh| {b{IE & 1 

18. `{X E1 VWm E2 Xmo Eogr KQ>ZmE± h¢, {OZ_| E1, E2 H$m Cng_wƒ` h¡, Vmo P(E2|E1) H$m 
_yë`m§H$Z H$s{OE & 1 

19. {ZåZ{b{IV g§»`m-loUr _| [aº$ ñWmZ na Š`m g§»`m hmoZr Mm{hE ? 1 

1, 5, 10, 16, 23, 31, ... 

AWdm 

 `{X p = dh bå~m h¡ VWm q = dh gwÝXa h¡, Vmo p Am¡a q H$m à`moJ H$aVo hþE, {ZåZ{b{IV 
H$WZ H$mo gm§Ho${VH$ ê$n _| {b{IE : 1 

‘‘dh bå~m h¡, `m dh N>moQ>m Am¡a gwÝXa h¡ &’’ 

20. {Ì^wO ABC Ho$ erf© A go JwµOaZo dmbr _mpÜ`H$m H$m g_rH$aU kmV H$s{OE, O~{H$ erf© 
A(2, 5), B(– 4, 9) VWm C(– 2, – 1) h¢ & 1 

IÊS> I 

21. EH$ \$_© OmZVr h¡ {H$ CgHo$ EH$ CËnmX H$m _m±J \$bZ aoIr` h¡ & \$_© `h ^r OmZVr h¡ {H$ 
< 4 à{V BH$mB© H$s µH$s_V go dh 1400 BH$mB`m± ~oM gH$Vr h¡ Am¡a < 2 à{V BH$mB© H$s 
µH$s_V go dh 1800 BH$mB`m± ~oM gH$Vr h¡ & Bg CËnmX H$m gr_m§V amOñd \$bZ kmV 
H$s{OE & 2 

AWdm 

 do A§Vamb kmV H$s{OE {OZ_| \$bZ f(x) = x4 – 4x3 + 6x2 – 4x + 1 dY©_mZ `m 
õmg_mZ h¡ & 2 

22. x H$m _mZ kmV H$s{OE, `{X 2 

  1x  








1–2–

01









3

x
 = 0 
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14. The equation of a line through (2, – 4) and parallel to x-axis is 

_____________ . 1 

15. A function which is differentiable at a point is also _____________ thereat. 1  

Note :  Answer the following question numbers 16 to 20.  

16. In a lottery of 25 tickets, numbered 1 to 25, two tickets are drawn 

simultaneously. Find the probability that none of the tickets has prime 

number. 1 

17. State the three major components for the formulation of a Linear 

Programming Problem (LPP). 1 

18. If E1 and E2 are two events, where E1 is a subset of E2, then evaluate 

P(E2|E1). 1 

19. What should come in place of blank space in the following number series ? 1 

 1, 5, 10, 16, 23, 31, ... 

                               OR 

 If p = He is tall and q = He is handsome, then using p and q, write the 

following statement in symbolic form  

                     ‘‘He is tall, or he is short and handsome.’’ 1 

20. Find the equation of the median through vertex A of the triangle ABC, 

having vertices A(2, 5), B(– 4, 9) and C(– 2, – 1).  1 

SECTION B 

21. A firm knows that the demand function for one of its products is linear. It 

also knows that it can sell 1400 units when the price is < 4 per unit and 

it can sell 1800 units at a price < 2 per unit. Find the marginal revenue 

function of this product.  2 

OR 

 Find the intervals in which the function f(x) = x4 – 4x3 + 6x2 – 4x + 1 is 

increasing or decreasing.  2 

22. Find the value of x, if   2 

                            1x  








1–2–

01









3

x
 = 0 



 

  .364/B 10  

23. Xmo nmgo EH$ gmW CN>mbo JE & EH$ nmgo na 3 H$m JwUO d Xÿgao nmgo na 2 H$m JwUO AmZo 

H$s àm{`H$Vm kmV H$s{OE & 2 

AWdm 

 EH$ W¡bo _| 4 g\o$X, 7 har d 9 Zrbr J|X| h¢ & `{X Xmo J|X| `mÑÀN>`m {ZH$mbr OmVr h¢, Vmo 

BZ J|Xmo§ H$s EH$ hr a§J H$s hmoZo H$s àm{`H$Vm kmV H$s{OE & 2 

24. ha_rV H$s 1996 _| ewÕ gmám{hH$ Am` < 1,800 h¡ & df© 1996 _| Cn^moº$m gyMH$m§H$ 

160 Wm & `h ~‹T>H$a df© 2004 _| 200 hmo J`m Wm & j{V H$s ny{V© Ho$ ê$n _| ha_rV H$mo 

{H$VZm A{V[aº$$ _h±JmB© ^Îmm XoZm hmoJm ? 2 

25. Amì`yh {d{Y go, {ZåZ a¡{IH$ g_rH$aU {ZH$m` H$m hb kmV H$s{OE : 2 

7x + 2y = 11 

4x – y = 2 

IÊS> J 

26. `{X )y–x(4y–1x–1 22   h¡, Vmo Xem©BE {H$ 
2

2

x–1

y–1

dx

dy
 . 4 

                                                 AWdm 

 `{X f (x) = 3x2 – 4x – 
3x

2  VWm f(1) = 0 h¡, Vmo f(2) kmV H$s{OE & 4 

27. Xe_bd g§»`m 33·3125 H$mo {Û-AmYmar g§»`m _| n[ad{V©V H$s{OE & 4 

28. EH$ gyú_-~_ (Jmobm) AmH«$_U _| {H$gr EH$ ~_ go bú`-^oXZ H$s g§^mdZm 50% h¡ & 

bú` H$mo nyU©-ê$n go ^oXZo Ho$ {bE Xmo ~_m| H$m grYm AmH«$_U µOê$ar h¡ & nyU©-ê$n go  

bú`-^oXZ H$s g§^mdZm 99% `m A{YH$ àmá H$aZo Ho$ {bE {H$VZo ~_m| go AmH«$_U H$aZm 

hmoJm ?  4 

AWdm 

 525 n¥îR>m| H$s EH$ nwñVH$ _| 42 _wÐU H$s Jb{V`m± h¢ & `{X `o Jb{V`m± nyar nwñVH$ _| 

`mÑÀN>`m \¡$br hþB© h¢, Vmo àm{`H$Vm kmV H$s{OE {H$ `mÑÀN>`m M`{ZV 10 n¥îR>m| _| 

A{YH$-go-A{YH$ 2 Jb{V`m± hm|Jr & ({X`m J`m h¡  e– 0.8 = 0.45)  4 
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23. Two dice are thrown simultaneously. Find the probability of getting a 

multiple of 3 on one dice and a multiple of 2 on the other dice. 2 

OR 

 An urn contains 4 white, 7 green and 9 blue balls. If two balls are drawn 

at random, find the probability that the drawn balls are of the same 

colour.  2 

24. Net weekly income of Harmeet was < 1,800 in 1996. The consumer index 

number was 160 in 1996. It rose to 200 in 2004. Calculate the additional 

dearness allowance to be paid to her if she has to be rightly compensated. 2 

25. Solve the system of linear equations, using matrix method :  2 

 7x + 2y = 11 

 4x – y = 2 

SECTION C 

26. If  2x–1  + 2y–1 = 4(x – y),  then show that  
2

2

x–1

y–1

dx

dy
 . 4 

 OR 

 If   f (x) = 3x2 – 4x – 
3x

2
  and  f(1) = 0,  then find  f(2). 4 

 

27. Convert the decimal number 33·3125 into its binary equivalent. 4 

28. In a precision bombing attack, there is a 50% chance that any one bomb 

will strike the target. Two direct hits are required to destroy the target 

completely. How many bombs must be dropped to give a 99% chance or 

better, of completely destroying the target ? 4 

OR 

 A book of 525 pages contains 42 typographical errors. If these errors are 

randomly distributed throughout the book, what is the probability that 

10 pages selected at random, will have at most 2 errors ?  

 (Given e– 0·8 = 0·45) 4 
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29. {ZåZ {XE JE ì`damoYm§o Ho$ A§VJ©V 7x + 6y H$m A{YH$V_ _mZ kmV H$s{OE : 4 

  x  +  y   2 

  2x + 3y  6 

  x  0  VWm  y   0. 

30. ZrMo {XE JE Am±H$‹S>m| go 2009 H$mo AmYma df© _mZVo hþE df© 2015 Ho$ {bE, g_wƒ`r ì`` 

{d{Y go Cn^moº$m _yë` gyMH$m§H$ kmV H$s{OE :  4 

dñVw _mÌm 
2009 _| _yë` 

(< _|) 
2015 _| _yë` 

(< _|) 

A 40 16.00 20.00 

B 20 40.00 60.00 

C 15 2.00 3.00 

D 20 5.25 7.25 

E 6 2.50 4.50 

IÊS> K 

31. {H$gr Am`V Ho$ D$na ~Zo AY©d¥Îm Ho$ AmH$ma dmbr EH$ {I‹S>H$s h¡ & {I‹S>H$s H$m g§nyU© 

n[a_mn 10 _r. h¡ & nyU©V`m Iwbr {I‹S>H$s go A{YH$V_ àH$me AmZo Ho$ {bE {I‹S>H$s Ho$ 

Am`VmH$ma ^mJ H$s {d_mE± kmV H$s{OE & 5 

AWdm 

 g§»`m 8 H$mo Xmo YZmË_H$ g§»`mAm| _| Bg àH$ma go {d^m{OV H$s{OE {H$ EH$ g§»`m H$m 

dJ© Am¡a Xÿgar g§»`m Ho$ KZ H$m `moJ\$b Ý`yZV_ hmo & 5 

32. {ZåZ{b{IV _| H$m¡Z-gm {Zdoe A{YH$ bm^ H$m h¡ ? 5 

‘‘16% dmbo G$UnÌ Omo 8% ~‹T>moVar (A{Y_yë`) na CnbãY h¢ 

                        `m 

15% dmbo G$UnÌ Omo 5% H$Q>m¡Vr na CnbãY h¢ &’’   5 
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29. Find the maximum value of 7x + 6y subject to the constraints :  4 

  x + y  2 

  2x + 3y  6 

  x  0  and  y  0.  

30. Construct the consumer price index number using Aggregate 

Expenditure method for the year 2015 with 2009 as the base year, from 

the data given below :  4 

Commodity Quantity 
Price in 2009  

(in <) 
Price in 2015  

(in <) 

A 40 16·00 20·00 

B 20 40·00 60·00 

C 15 2·00 3·00 

D 20 5·25 7·25 

E 6 2·50 4·50 

SECTION D 

31. A window is in the form of a rectangle mounted by a semi-circular 

opening. The total perimeter of the window is 10 m. Find the dimensions 

of the rectangular part of the window to admit maximum light through 

the whole opening. 5 

OR 

 Divide the number 8 into two positive numbers such that the sum of the 

cube of one and the square of the other is minimum. 5 

32. Which of the following is a better investment ?  

 ‘‘16% debentures at 8% premium or 15% debentures at 5% discount.’’ 5 
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33. {ZåZ ì`damoYm| Ho$ AÝVJ©V z = 5x + 2y H$m A{YH$V_ VWm Ý`yZV_ _mZ kmV H$s{OE : 5 

  – 2x – 3y  – 6 

          x – 2y  2 

       6x + 4y  24 

     – 3x + 2y  3 

        x  0, y  0  

AWdm 

 EH$ \$ZuMa ì`mnmar Ho$db Xmo dñVwAm| – Hw$gu d _oµO H$m hr H$m_ H$aVm h¡ & dh 

< 5,000 H$m {Zdoe H$aVm h¡ Am¡a CgHo$ nmg Hw$b 60 dñVwAm| H$mo aIZo H$m ñWmZ hr 

CnbãY h¡ & EH$ _oµO H$m H«$` _yë` < 250 d EH$ Hw$gu H$m H«$` _yë` < 50 h¡ & dh EH$ 

_oµO H$mo < 50 bm^ Am¡a EH$ Hw$gu H$mo < 15 bm^ na ~oMVm h¡ & `h _mZVo hþE {H$ dh 

g^r IarXr JB© Hw${g©`m± d _oµO ~oM boVm h¡, Vmo dh {H$VZr YZam{e {Zdoe H$ao Vm{H$ Cgo 

A{YH$V_ bm^ hmo ? Cn ẁ©º$ H$mo a¡{IH$ àmoJ«m_Z g_ñ`m ~ZmH$a hb H$s{OE & 5 

34. AH$~a EH$ H$ånZr Ho$ < 100 _yë` dmbo eo`am| H$mo IarXZo _| < 6,060 H$m {Zdoe H$aVm 

h¡ & EH$ df© níMmV² H$ånZr 15% bm^m§e H$s KmofUm H$aVr h¡ {Oggo Cgo < 600 H$m 

bm^m§e àmá hmoVm h¡ & `o eo`a CgZo {H$VZo én`o (_yë`) _| IarXo, `{X CgZo 1% Xbmbr 

^r Xr hmo ? 5 
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33. Find the maximum and the minimum values of z = 5x + 2y subject to the 

constraints : 5  

  – 2x  –  3y    – 6 

  x  –  2y    2 

  6x  +  4y    24 

  – 3x + 2y  3 

  x  0, y  0 

OR 

 A furniture dealer deals in only two items : chairs and tables. He has  

< 5,000 to invest and a space to store at most 60 pieces. A table costs him 

< 250 and a chair < 50. He sells a table at a profit of < 50 and a chair at 

a profit of < 15. Assuming that he can sell all the items he buys, how 

should he invest his money in order that he may maximize his profit ? 

Formulate the above as a linear programming problem. 5 

34. Akbar invested < 6,060 in the shares of face value < 100 each of a 

company. At the end of the year, the company declared dividend of 15%, 

which gave him an income of < 600. At what price was the share quoted 

if the brokerage was 1% ? 5 

 


